MULTIPLE CHOICE . D
X = incorrect

@in the late 18005 New Yorkers faced pollution caused by AR
C. steam englnes
d. gas englnes ‘

2 rlng most of human hlstory, peop[e trave[ed by _ ’b
- a. wheelandaxle ¢ gasengines
walking _ d. sailboat. |

X four-stroke cycle gas powered ehgine'turn's gas into ener

i'n'side- the‘ehg"ine' using which fou
~ strokes? '

-Student number in upper

_ @ intake, compression, power exhaush - right corner of each page

b.  mixture, explosion, compression, densuty

c.  intake, explosion, power, compression _ T
Teacher aSS|gned percentage correct grade
d mixture, compressron power, density

circled for each student. A bonus or .

Agear system is best describedas -~ extrac djlwas.possl-ble.————‘_e ——
_ .~ Asystem of two or more gears. that work together, similar to a simple machine because it lsh
x __wheel and axle. : : N k___,_e.__f_f-)
"b. Asystemof separate unrelatedmand axle gears that reduce the mechamcal advantage.
€. Asystemof a variety of dlfferent types of ssmple machines that work together for one
purpose.
. A system of larger gears that turna small gear in the opposite direction.

5~ A lubricant .
. a |ncreases friction by adhering or giumg the surface of a flat object to the ground.
'b. increases friction hy making the surface rougher

reduces friction by preventing the surface of a flat object from touchmg the ground
reduces friction by maklng the surface smoot?)

Do all objects have friction?
Yes, but some surfaces of objects have more friction than other surfaces.
b. Yes, all surfaces have the same level of friction.
c. No, only rough surfaces have friction while smooth surfaces do not.
‘ No, all objects do not have friction because friction is eliminated by a lubricant.

“Friction helps a person to

walk and run.

slow down a moving object and prevent objects from sliding away from each other.
* sit and stand '

a

-

[ .
/% all of the above
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- . dcience 1esl, Things That Move . . Name:

PuBs e UL

N 8. Usmg rollers to move Iarge heavy objects reduces
- @ ‘the mechamcal advantage of the object. -

the amaunt of lubricant you will need to move it.
ﬁ_”""‘»m
h t_ls lmpacted by frlctlon

. _-'"the amount of the object’s surfa_ __

mtake of caffeme B

and Smckers bars l:» S

. MATCHING
y hydroelectrlc power Sl .‘F\\made from orl e e
4‘ S;léolar power oL g moving of tides - S
' tidal power .- L “elreplaced muscle wmd and water powerln
Cerhil ' C the 1700s. e
Rti>,c1(::z¢11r3r.ecf by heavy oil B
~ex replaced steam in the 19405 _
’f‘-eventually evolved into the wheel and axle
g~ uses different energy sources to generate
electricity .
m generated bywmd
1- fuels rockets and spacecraft
. falling water - '
' K- sun energy

IR

USE THE WORD BANK for 19 and 20

: 21. The gear system of a bicycle uses two gears connected to a W‘“r@@"f— ‘The pedaling turns a large
LOeaf [ma ~___gear turns a chain which turns a S'MC“ gear, and the small gear

turrgthe% u:i N M
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* EILL IN THE BLANK

22/center pole where the sail is attached is the YV10.S+
Tﬁe part of the boat used forsteering is the __ vader

@ wheel that has notches along its c;rcumference isa_ AL 47 ?@[1/7 :

Nhat are three mvent:ons the steam powered engme led to? '
Stean cac b _Steam 5/119 . Steans emmp/

26. What are three mventlons the gas-powered engme Ied to?

. a __Car b. _ SV\\D . ©._ Gt d@f)e——
' at wer  the 5|x importgnt advances in th? |st0ﬁ of transportatlon'-’
~ fabter Dap/\ﬂ,
% FUN eaca?d S s i quu,/

. \ i i |
{ _
.5’4 QLE% %Woé 2“\:9‘ slow mownc{ 25 é’%w’\
28. What are the four ways peagle pg’ered machines in ancient times? R :

.&uo\ o0k cHie &\l & axie Udébz"/\
QW«/_ DMQW"&V’

ANSWER:

@ Calculate the gear ratlo of a gear system with a 56 mm diameter gear and a 8 mm

diameter gear. f |

@ Calculate the gear ratio ofa'gear system with a 72 teeth gear and a 9 teeth gear. 6 . (

>



MUEﬁﬁL’E CHOICE

In the late 18005 New Yorkers faced poltutlon caused by - D

c. steam englnes _

Dunng most of human hlstory, peop!e trave[ed by B
. ‘wheel and axIe - ¢. gasengines
g @',.walkyng L d. sailboat

A four stroke cycte gas powered engine turns gas into energy ;n5|de the englne using whrch four

strokes'-‘, . : _
X T R

g e sk e e W i oy ﬂmw-«: ﬂ;xm‘v" ,u DRI
i ittt T ﬂ% ; mtﬂre'emrem‘ 8] 0 4 S ﬁsgitvow-« : i Tl e . {wh s N M,‘WM lm_@,
@“ intake, explosion, power, compression '
d. mixture, compressnon, power, density

g/gear system is best descnbed as
oL @ ‘A system of two or more gears that work together 5|m|Iar to asimple machine because itisa
wheel and axle. '
b. Asystem of séparate, unrelated wheel and axle gears that reduce the mechanical advantage
c. Asystem of a variety of different types of simple machines that work together for one
purpose. ‘
d. Asystem of larger gears that turn a small gear in the opposite direction.

5. /A lubricant
a. mcreases friction by adhermg or gluing the surface of a flat object to the ground.
b. increases friction by maklng the surface rougher.
@ reduces friction by preventing the surface of a flat object from touching the ground.
' red'uce_s'_fritti‘on'by 'makirrg the surface smo@ : :

Do all objects have friction?

Yes, but someé surfaces of'objeots have more friction than other surfaces.
b. Yes, all'surfaces have the same level of friction.
c. No, only rough surfaces have friction while smooth surfaces do not.”

d.. No, ali objects do not have friction because friction is eliminated by a lubricant.
Q//F/ric{on helps a person to

a. walkand run : :
(%, b. slow downa moving object and prevent objects from sliding away from each other.
¢. sitand stand. -
@ all of the above
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@ the mechanical advantage of the object. -
._.the amount of lubricant
£ ‘G\ the amount_of the object’s surface area

ndimne:

A EEARS W .

Usmg roIIers to move Iarge heavy objects reduces

\LD_.MdLLneed to. move lt

, e
that is rmpacted by f[gtpﬂ/ -

: and Smckers bars

. MATCHING. .,

the gra\ntatlonal pull ofthe ea h_ al!owmg Mrs _Collms to_rcut

\\ made from 0||

back on her intake of caffeine

repiaced muscle, w:nd and water power in -
. the 17005 :
E' powered by heavy oil

)’hqund hydrogen: replaced steam inthe 1940s
power station \ eventually evolved into the wheel and axle '
/15.) 452 diesei engine "B, uses different energy sources to generate

- - ' ~ electricity :
15/ £ oil \ generated by wind

C/ steam \ fuels rockets and spacecraft
‘B// rollers "\ falling water

O gasoline ‘k\ sun energy

USE THE WORD BANK for 19 and 20
wbrerete., WHEEES= —  —red— -Gt ~large

@A steam engine works by heating UJQOQE or
steam passes through § ) ;‘)-ﬁ_% and turns-
the &7 s o .

=

The gear system of g hi

cle uses two gears connected to
gear turns a chain which turnsa

COO\i to cause water to boil  for steam. The

hee D which turns a E@d whlch turns

AYoN \ V€. ) The pedaling turns a large

gear, and the smail gear o
a O
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FilL 1M 171 DL/MINIL

\ys

. P sl
A center pole where the sail is attached is the ﬁgﬁ_m 2
Q he part of the boat used for steering is the fUL(‘\ Aer”. :

24, A wheei that has notches a[ong its cnrcumference is a{g 2Hn S,goar“ -

. @ What are three inventions the steam- powered engme led to?
- a. "LVOL! ) b. ot e )
\\;\‘_“3:--——-’/

What are three inventions the gas-powered engine Ied to?. r-\‘) |
- }O(‘?dr‘}‘* b. Cou (=

@Vhat are the four ways people powered machines in ancient times?

o BAon eSS b _ovnitaed wnsth bes

e U\ d _ Lin G ‘LQJ\

ANSWER:

@. Calculate the gear ratio of a gear system with a 56 mm chameter gear and a 8 mm
diameter gear. _I M 7 i '

@ Calculate the gear ratio of a gear system with a 72 teeth gear and a 9 teeth gear. S\/‘!"{&'!"L. 6 51



MULTIPLE CHOICE

«m/ he late 1800s, New Yorkers faced pollution caused by
a. smog c. steam englnes
b} horses d. gas eng;nes

' mmg most of human-history, people traveled by
T A wheel andaxle: gas engines

walkmg . d. sailboat

Mbur-stroke cycle gas powered engin'e turns gas into energy inside the e'ngir_ae using which four
strokes? . _ | :
@ mtake compressu)n power. exhauyst i
Ty, P mixture, expldsson corﬁpressmn denSIty R
c.  intake, explosion, power, compression

- d. mixture, compression, power, density

VAgear‘system is best described as

A system of two or more gears that work together, similar to a simple machine because itis a
wheel and axle.

b. Asystem of separate, unrelated, wheel and axle gears that reduce the mechanical advantage.

c. Asystem of a variety of different types of simple machines that work together for one
purpose. :

- d. Asystem of larger gears that turn a small gear in the opposite direction.

: ) ' wﬁrlcant

a. increases friction by adherlng or gluing the surface of a flat objecttothe ground T T T T
- b, increases friction by making the surface rougher. '

c. reduces friction by preventing the surface of a flat object from touching the ground.
, @ reduces friction by making the surface smoother.

@ Do aII objects have friction?

il e f._.N%rﬂt,

Yes, but some surfaces of ObjECtS have more friction than other surfaces.
N Yes, all surfaces have the same level of friction.
¢. No, only rough surfaces have friction while smooth surfaces do not.
d. No, all objects do not have friction because friction is eliminated by a lubricant.

A‘cion helps a person to

walk and run.

slow down a moving object and prevent objects from sliding away from each other.
sit and stand.

d
h.
C.
all of the above
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mg rolfers to move Iarge heavy objects reduces SRR o R S " , - 3
a.’ the mechamcaiadvantage of theobject. =~ - .. : o
b “the amount of lubricant you will need to move it. - S _

the amount of the  object’s surface area ‘thatis :mpacted by frrctlon B

o d _the grawtatlonal pu!l of the earth aliowmg Mrs CO“I .he;

' and Smckers bars R

- MATCHING

/. E!jhydroelectnc power P made from o:l
ﬁ/ ssolarpauer. by IOV O i i
t:da! power ' 4 repiaced muscle water power in- - -

_the 1700s .

powered by heavy oul

replaced steam in the 19405 : .

¥ eventually evolved into the wheel and axle

.. uses different energy sources to generate
electricity '

.; generated by wind - -

i fuels rockets and spacecraft_. -

. falling water |

7 sun energy

1&2/ 5 wmd power . _
: Q Af: hqund hydrogen
' owerstatlon o

" diesel engine

. > Csteam
4 = _rollers . .
18, (*—gasoliine

USE THE WORD BANK for 19 and 20

—-eha-rn-“r T o . Mame - .r-n.:al

20. A steam engine works by heating { Q@J or

steam pef\sses through (2 'P€.5 andturnsa

the Whe.e

XA gear system of a bicycle uses two gears connected to 2 ( 45 t) The pedalmg turns a large

qﬁf{/‘ the kN’C) €. gear turns a chain which turns a g 0 f gear, and the smal! gear
turns the Wh-&f '




FILL IN THE BLANK

%enter pole where the sail is attached is the ki gdL/.S' -

L/'Eh'é part of the boat used for steering is the {7 )\*H—QF
JQE.

rg%engme' led to? . W

c.

M/A wheel that has notches along its curcumference isa
# 25) What are three mv%ﬁtlje stea -powe

- a. 10 b.' 0 AL
U,

26. What are three mventlons the gas- powered englne Eed to?

-

e pm 3

+ 27; What weréth e’s‘:éémportan FAvARCEIn the hilk f”"“’*‘t‘i" ’s‘p”"brtatlo M
2 W b Y nO“’l@nli d5 _Gnim f‘ftb

d. WLM(&— e. Cm;h &% W Qs wgﬂdi
' 0

What ar ﬁe four ways people powered fines in ancient times?:
AN QOUSEN. . Ahihall OO -
g,/ W i we—" W aqLe-‘/“‘

ANSWER: -

Miate the gear ratio of a gear system with a 56 mm diameter gear and a 8 mm
diameter gear. 7 o | -

3ﬁﬁalculate the gear ratio of a gear system with a 72 teeth gear and a 9 teeth 'gear. 2;£ ) (

‘17%

Baits O Sy



MULTIPLE CHOICE

p/lr\the late 1800s, New Yorkers faced pollution caused by _ \)

a. smog ¢. steam engines
b. horses d. gas engines
an most of human history, peop!e traveled by _ \\3
; ,' - whee!and axie e gas éngines.
" b, walk:ng _ o d sepiboat_ - -

3. /A four-strake cycle gas powered engine turns gas into energy inside the engine using which four
strokeS? O\ _ _
‘a/' intake, compression, power; exhaust-
b. mixture, explosion, compress:on density
c. - intake, explosion, power, compression
. m:xture compression, power, density

4Y A g\e}wystem is best described as O\ 7
A'system of two or more gears that work together similar to a simple machme becauseitisa
- wheel and axle. .
"~ b. Asystem of separate, unrelated, wheel and axle gears that reduce the mechanical advantage.
c. A system of avariety of different types of simple machines that work together for one
purpose. ' :
d. Asystem of larger gears.that turn a small gear in the opposite direction.

5. /A lubricant
a. increases frtct:on by adher:ng or glu:ng the surface of a flat object to the ground.
b. increases friction by making the surface rougher. :
c. reduces friction by preventing the surface of a flat object from touching the ground

Zd/ reduces friction by making the surface smoother.

6%, /Do all objects have friction?
Yes, but some surfaces of objects have more friction than other surfaces.
b. Yes, all surfaces have the same level of friction.
c. No, only rough surfaces have friction while smooth surfaces do not.
d. No, all objects do not have friction because friction is eliminated by a lubricant.

7. Friction helps a peison to
a. walk and run.

X ‘b—Slow down a moving ohject and prevent objects from sliding away from each other.
c. sitand stand. : :

@Ii of the above
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8 Using rollers to mave large, heavy. objects reduces ' ' : _‘ ' 7 4
"the mechanical advantage of the object. o : :

x \b/ the amount of lubricant - you wrll need to move rt

. ‘the’ amount of the object’s surface area that is rmpacted by frtctlon

the gra\ntational pull of the earth aliowmg Mrs C llms
and Snlckers bars : S

MATCH]NG

' % ﬁ;ydroeiectnc power C A made from 0|I i
K solar power R movmg of tldes AN :
11 ,} tidal power [ /c/ repfaced muscle, wmd and water powerm
S L o .- the 17005 : S '
S 12, wmd power C © U depowered byheavyorl .
@ ____ liquid hydrogen™ . R /e/replaced steam in the 1940'5' ' o
14 _j_powerstatmn S o Jf/eventuallyevolved into thewheeland axle
< diessl englne ' T - ﬁ/ uses different energy sources to Benerate
%) ' o - electricity
oil . o ' /l(generated bywmd
(\ steam o ‘ Jfuels rockets and spacecraft
1 Erolfers L j. falling water
Q/_L_'_gasoline o L

k. sun energy

USE THE WORD BANK for 19 and 20 '

pipes . chain o vaive o c_o/#r - -wo,o)d : gear }géii

wheel whieels. rod

small

large

20. A steam engine works by heating (001

or A998 4 cause water to '.-ﬂ {
steam passes through. g"‘c@é C and turns a ?}-jgnvﬁ which turns a
the__WhEeig fj pes a

H

. for steam. The
which turns

Chain
21, The gear system of a%i cycle uses two gears connectedtoa &) f af . The pedaling turns a large
QLF ar {{ gear turns a chain which tur

ns aChat (Y _ gear, and the small gear
turnsthe %M}Q { - v\fg)g’ 5(‘(\@”

cut back on her mtake of caffeme R
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FILL IN THE BLANK

22, A center pole where the sail is attac:hed is the {\(\0‘5 i

23. The part of the. boat used for steering is the

24. A wheel that has notches along its circumference is a C*’\i;‘-j Q %W

. 25. What are three mventlons the steam- powered engirie led to?
a. __COr b. <h P . WO\\ N
26. What are three inventions the gas—powered engme led to?
Shi \) @O . _Ploan e
27. What were the six important advances in the history of transportat:on?
2 dug nd @0 b BN MAS . Sh{
o Whed o _ods evare Sdeam preve
28 What are the four ways people po;vered mac'b{l nes in ancieht times? |
a. _humon (huscr€ b, _Gfmal weci©
c. AJ s if\(k d. "551:?{ ] W \L@f

ANSWER:

29. Caicuiate the gear ratic of a gear system with a 56 mm-diameter gear and a 8 mm
diameter gear. _ z - ' :

L

30. Calculate the gear ratio of a gear system with a 72 teeth gear and a 9 teeth gear. g : I



MULTIPLE CHOICE | | | | H/1\ /4

V\

n the late 18005 New Yorkers faced poilution caused by hOPSBQ
a. smog _ c. steam engines

7 horses i d. gasenglnes '. - ‘ | 6&S >

urlng most of human hlstory, people traveled by V\ID\“i“ V\Ot
3. wheel and axle ¢ gasengines

@ walking - d. san!boat o

ahod

four-stroke cycle gas powered englne turns gas into energy- inside the engine using which four
strokes?

@7 mtake compressmn power exhaust

ix’t’ure"“exﬁrosm‘n'Cﬁmf:‘ré‘ﬂ‘i’é*ﬁ,"ﬂ“ﬁ‘“tv e —— o
&, intake, explosion, power, compression ' o
d m:xture compressmn power, densrty

\

gear system is best described as

9

. A system of two or more géars that work together SIszar toa simple machme because l‘t isa
wheel and axle.

=3

A system of separate, unrelated, wheel and axle gears that reduce the mechanical advantage.
Asystem of a variety of different types of simp!e machines that work together for one
purpose. s

d. A system of larger gears thatturn a small gear in the opposite dlrectlon

' A bricant

a. increases friction by adhermg or gluing the surface ofa flat object to the ground
b. increases friction by making the surface rougher

c¢. reduces friction by preventing the surface of a flat object from touchlng the ground
reduces friction by making the surface smoother..

o ali objects have friction?

~"a. Ye some surfaces of objects have more friction than otherm
(' Yes, all surfaces have the same level of friction.
c. No, only rough surfaces have friction while smooth surfaces do not.
d. No, all objects do not have friction because friction is eliminated by a lubricant. -

Ation helps a person to

a. walkandrun.

b. slow down a moving object and prevent objects from sliding away from each other.
c. sit and stand.

all of the above
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- . ERGARLIG,

8. Us:ng rollers to move- iarge heavy objects reduces
x ~'the mechanical advantage of the object. - - -
" the amount of lubricant you will need to move lt o
= 'the amount of the object’s surface area that is :mpacted bm:“
“d. the" grawtatlonal pu!i of the earth a!lowmg Mrs Colllns to cut ba
- == and Sn:ckers bars : e T LA Lo

- MATCHING:
g hydroelectrlc power
__Iarpowe_ = :

. : : e e repiaced muscle wind, and water power in -
- i A . the1700s. ... . o
12,/ ]:\ wmd power ST }1/ powered by heavyoi! '

2}}/ L hqund hydrogen L ' E ;/replaced'steam inthe 1940s

.'T tidal power

power statlon L /f/ eventually evoived into the wheel and axle
o diesel engme S uses different ¢ energy sources to generate
electricity - .

187 £ oil - )( generated by wind .
't‘/ C steam R /i./fuels_rocke'ts and spacecraft = .
f;{/ E rollers o _ / falling water

19 gasoline - _ © sun energy

USE THE WORD BANK for 19 and 20

wheel  wheels- *od- small farge

io(';./steam engine works by heatmg QO&\ or anJ d te cause water to bo[ ! for steam. The

steam passes through 123@ 25 and turnsa \Jolyo which turns a e which turns -
the \aJ b,g_ §

114egear system of a bicycle uses two gears connected to a d\cm Tl Ihe pedaling turhs a large
Q\Q(}w“ ,the _| {lr‘Qo, gear turns a chain which turns a m\\ gear, and the small gear

turns the Aimgj,“
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FILL IN THE BLANK

;}A center pole where the sail is attached is the _(ONIOS Y .
237 The part of the boat used for steering is the rucder

Z-Ah 'I';tha't has notches along its circumference is a Ugg oA
%/ﬁ:re three inventions the steam-powered engine led to? T
/ Sreoun Cac b S¥yearm ool o SYeen Yrogn

5 What are three inventions the gas-powered engine led to?

.o _ b ' Piodﬂ*@ . c. Yoot o '

,‘wﬂwww ':..,hata.wa-newtheags'i*.ai_mpoptan:t»advanee&in?“f—the%hist'ry-“of‘transpo'rtati"on'?"'-"-“""*‘*""*””“"“““"“"""’“"’“"“‘- N
a. Cobt ortonpe b, cdenne %ic:c{’}‘ir\% o _Wwheae

M soil oo ¥ e ops Gv;i\g‘ng_, f._steam

= N . CNSNe.
<" What are the four ways people powered machines in ancient times? o
a. (0N wSed oscleb. wede v
canuyial USer Mmuleq. LUANLY

ot SRS

ANSWER:

. mlate the gear ratio of a gear system with a 56 mm diameter gear and a 8 mm
diameter gear. _’_{:’_L_____ . -

Mulate the gear ratio of a gear system with a 72 teeth gear and a 9 ieeth gear. % : i



MULTIPLE CHOICE

I//n the late 1800s, New Yorkers faced pollution caused by b

smog ] c. steam engines
horses d. gas engines
ﬁ/Durmg most of human history, people traveied by b '
o ‘wheel andaxle” ¢ gas engines

walking. . . d. sailboat

%our—strok'é cycle gas powered engine turns gas into energy inside the engine using which four ~
strokes? ' 3 : - -
intake, compressnon power exhaust
_ Mb mixture, explosion, compressmn densrty

.. mtake explos:on power, compression
d. mixture, compression, power, density

4. ear system is best described as
A syster of two or more gears that work together similar to asimple machine because itisa
wheel and axle.
b. A system of separate, unrelated, wheel and axle gears that reduce the mechanical advantage.
c. Asystem of a variety of different types of simple machines that work together for one
purpose. -
d. Asystem of larger gears that turn a smal) gear in the opposite direction.

Abncant ' ' ' ’

a. mcreases friction by adhering or gluing the surface of a flat object to the ground
b. increases friction by making the surface rougher.

reduces friction by preventing the surface of a flat object from touching the ground.
@ reduces friction by making the surface smoother.

thall objects have friction?

Yes, but some surfaces of objects have more friction than other surfaces.
b. Yes, all surfaces have the same level of friction.
c. No, only rough surfaces have friction while smooth surfaces do not.
d. No, all objects do not have friction because friction is eliminated by a lubricant.

Aion helps a person to

a. walkand run.
b. slow down a moving object and prevent objects from sliding away from each other.
¢. sitand stand.

_ all of the above



LAt - AL L ""U'F_' . E - l‘ame:

@ oliers to move large heavy objects reduces

@ the ‘mechanical advantage of the ob;ect
' ' b " the amount of lubricant you will need to move it _
r_the amount of the object’s surface area that is lmpacted by fractlon " } e S
= the grawtatlonal pu!l of the earth allowmg Mrs Colims to cut back on her tntake of caffelne
“and Smckers bars ey e e U : : : : o

o MATCHING o

- 9// A hydroelectrlc power L \a\madefrom o:f
g 10/ K~ solarpower R f_;-@ movmgoftides

11"/ RNl t:daT power |

7. . 12/ h wmd power

_ 1 liguid hydrogen

7 pqwer station ,
]¢5/ i; diesel erigine *

s I\,replaced muscle rwm A a-nd water power in
o~ ..thel700s. - : '
_' powered by heavy 0|I ,
' } replaced steam in the 19405 .
" ﬁ eventually evolved into the wheel and axle
uses dlfferent energy sources to generate
electricity

187 € o ) generated by wind.

172~ C steam , fuels rockets and. spacecraft
é/ L rollers @ falling water - -

K 8. _gasoline - k) sun energy

| USE THE WORD BANul‘t fo-r 19 and 20

Zﬂ/ém engine works by heating COQ\ or WG‘OA to cause water to bﬂll | for steam. The -
]

steam passes t\hrough @ {)9/5 and turns a 5[@ which turns (o which turns

the ee/

A_ _ Zl./'l{gear system of a blcycle uses two gears connected to a d\m “ 'g The pedaling turns a large 7
I OQ,Q , the lQ(O gear turns a chain which turns a {VIC gear, and the smalil gear B

,tuhlls the AN‘\(’,Q\ S
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FILL IN'THE BLANK

Mnenter pole where the sail is attached is the (Y\Q 3 X
237 The part of the boat used for steering is the _{" ké\ el

2&./ A wheel that has notches along its circumference is a %6&( .

25. What are three inventions the steam-powered engine led to?

a Skeamcof b Icod A o S‘L\'?p
26. What are three inventions the gas-powered engine led to?
Cag b _plane . ship

M\Nere the six 1mportant advancis in the htstory of transportation?
e 0 e QNI Inaks
} conoe®h. & hca:haq S hee
tm \wat - e steam engie + 00S engine
: Mt are the four ways people powered machmes in ancient tzmes‘v’
| d Mwsdey | 5ad
Ca IAN used WSCT L S
cGiimve! used 4. Wodeg
W\\ﬂ(}\t‘?.

ANSWER:

@Calculate the gea@)f a gear system with a 56 mm diameter gear and-a 8 mm

diameter gear. _7mm ’7 |
g6

@ Calculate the gegrratio ofia gear system with a 72 teeth gear and a 9 teeth gear. E J ‘EE’,‘H\
B BN A . 7 9-@0(




MULTIPLE CHOICE

Vﬁ the late 1800s, New Yorkers faced pollution caused by
P a. smog : €. steam engines
. horses d. gas engines

E/Durmg most of human history, people traveled by
a. wheelandaxle  c. gasengines. .
@ walking - d. sailboat. .

_ g/ four-stroke cycle gas’ powered engine turns gas into energy msrde the englne using which four
strokes‘?

. mtake compressuon power exhaust. -

b. mixture, explosion, compressmn den5|ty
c.  intake, explosion, power compression -

d. mixture, compression, power, density -~ -

o -q//gear system is best described as

A system of two or more gears that work together srmrlar to a simple machine because itisa
wheel and axle.

b. Asystem of separate, unrelated; wheel and axle gears that reduce the mechanical advantage.

c. Asystem of avariety of different types of simple machines that work together for one
purpose. '

d. Asystem of larger gears that turn a small gear in the opposite direction.

@/E\ lubricant

_ mcreases friction by adhermg or gluing the surface of a flat object to the ground

b'.' increases friction by making the surface rougher '

C. reduces fnctlon by preventmg the surface ofa flat object from touchmg the ground
' reduces friction by making the surface smoother

@éaﬁobjects have friction?. __ .

a. Yes, but some surfaces of objects have more friction than other suﬁace?“

b. Yes, all surfaces have the same level of friction. T

c. No, only rough surfaces have friction while smooth surfaces do not.

No,-all objects do not have friction because friction is eliminated by a lubricant.

e

Friction helps a personto

a. walk and run. 7

b. slow down a moving object and prevent objects from sliding away from each other.
c. sitand stand. o -

all of the above


BWG
Typewriter
x


o mng ro!lers to move large heavy objects reduces’
o the mechamcal advantage of the object. -
: b .the amount of lubricant you will need to move it. - S
' ":}""‘j:the amount of the object’s surface area that s lmpacted by frlction B I
he,gravrtatlonal pull of the earth allowmg Mrs Collms to cut back on her mtake of caffelne' e
nd Snickers'bars - © B A -

3 eplaced muiscle, wind, and water power in -

L e the 17005
1;}/ h “Wind power - R R h: powered by heavy o:i
e ' _ s liquid hydrogen i RS | %, replaced steam in.the 19405 N
'_ powerstaton - Y eventually evolved into the wheel and axle
. 1»5/:& dresel engme 15 R " uses different energy sources to generate
T _ _electricity
187 € T W generated by wind
17 < steam o W fuels rockets and spacecraft

C18r _rollers R % falling water
18, G. gasoline ~ . . ' %, sun energy

USE THE WORD BANK for 19 and 20

_ Rﬁsteam engine works by heating woe a(f or __ Cwel to cause water to b@r | __for'steam. The

steam passes through ’ef gé J and turns a gl whichturnsa _ s 06 which turns
the M}; . _

Zﬂ/’r{gear system of a bicycle uses two gears connected to a tht‘lf\ - The pedaling turns a large
q@AV , the lafq'ﬁ gear turns a chain which turns a S:’Hﬂ-“ gear, and the small gear-

74
turnsthe ‘wh{{e‘S )




FILL IN THE BLANK

?genter pole where the sail is attached is the mGIS“( .
h

The part of the boat used for steering is the 7 rUC\'&Gf

%ﬁat has notches along its circumference is a 9&:«{' .

What aré three inventions the steam- powered engme Ied to?

5&6/5«01 S’l":O b. st Eam car c. 5(\*Cam J—Fmﬂ
@fﬁﬁje three inventlons the gas—powered eng:ne led to?
a. _ shy ;ﬁ b Co&r ¢ p\mo

. LIS
27. What were the sux important advances in the hlstory of transportatlon'-’

a. wm\ b. Sm‘rﬂ'@cﬁ c. 5Jream -em:;rft@
2 7

- Caneg, / i’&% ét'ﬂﬂ\«ﬂr'lé'“hm'hhﬁ f.
o ricls S
What are the four ways people powered machines in ancient times?

a. ___man veed Wfﬁéb, . chrm\ vred _mosele
c. WA nej d. LG frer

ANSWER:

muia.te the gear ratio of a gear system with a 56 mm diameter gearanda 8 mm -
diameter gear. MR

ez

GQ.Caﬁate the gearratio of a gear system witha 72 teeth gearanda 9 teeth gear. g v l



MULTIPLE CHO[CE

In the late 1800s, New Yorkers-faced pollution caused by b(—\’\d{“\eg .
& smog g steam engines

® horses ,d/ gas engines

@Armg most of human history, people traveled byb{ gmmﬂ]}%

- 2 wheel and axle R 4 gas engines
@ wa!kmg _ gr sailboat

E\/Aﬂzr-stroke cycle gas powered engine turns gas into energy inside the engine using whlch four
strokes? S . ' N .

: _mtake compressron, power exhaust S s N o M_ T e
"S5, mixture, explosion, compression, densnty o : ' S
c.  intake; explosion, power, compressmn

d. mixture, compressron, power, ‘density

%ar system is best descnbed as

. A system of two or more gears that work together sumllar to-a-simple machine because it isa

B

wheel and axle. :
/ A system of separate, unrelated, wheel and axle gears that reduce the mechanical advantage.

¢ Asystem of a variety of different types of simple machines that work together for one

purpose..
A-system of larger gears that turn a small gear in the opposite direction.

QA)FICHM

Fs increases friction by adhering or giuing the surface of a flat object to the ground

¥ increases friction by making the surface rougher.
A - reduces friction by preventing the surface of a flat object from touchlng the ground

@ reduces friction by making the surface smoother.

@/ﬁo/ali objects have friction?

@ Yes, but some surfaces of objects have more friction than other surfaces.

K. VYes, all surfaces have the same level of friction.
¢ No, only rough surfaces have friction while smooth surfaces do not.
4. No, all objects do not have friction because friction is eliminated by a lubricant.

71/F4tion helps a person to

g~ walk and run.
& slow down a moving object and prevent objects from sliding away fram each other.

{sit and stand.
all of the above



' /B/@g roilers to move large heavy objects reduces

B - ,a’ the mechamcal advantage of the object _
. the amount of lubncant you will: need to move lt -
. the amount of the object's surface area that IS lmpacted by frlctron :

o }/ the gra\ntatronal pull-of the warth alfowmg Mrs; Co!lms to cut back on her mtake of caffeme
Ca :-and Smcker bars : S e L -

}l}/ \/\ wmd power *’_‘7 .
37 3— llqu:d hydrogen

187 GS\ powerstation . - o SRR - ) it
1@/ 52 diesel engme IR & ifferent ener

: e  efectrisity
K/E ol L hrgencratedbywind—

;/‘C steam R ' i. fuelsrockets-and st

17 _ A gasoline

USE THE WORD BANK for 19 and 20 -

EO/Asteam engine works by heating woo d or Qggl 1o cause water to mil for steam. The
steam.passes through pj ‘22 § , and turns a §| gﬁ\\f{ whlch turnsa_ Cg. Q which turns

the

}{hegear system of a bicycle uses two gears connected to 3 Q\(\O\\Y\ The pedaling turns a large

€ar _ the | gﬂz? gear turns a chain which turns a S_‘{ﬂ(}d\ gear, and the small gear
turnithe _ W\hee | : _



FILL !N THE BLANK

. A
22’.{cent’er pole where the sail is attached is the ok .
| i{I’he part of-the hoat used for steering is the __ " ooy .
. Zh/A/ heel that has notches along its circumference is a (G\"r

at are thiree inventions the steam-powered engine led to"-’

zgy{a & %*%m*%cm b _S¥aon. <ol o b"((l\m Dol
h :

at are three mventlons the gas-powered engine led to?

plane Q\I\\O

TR T ;‘:‘oéufé?‘ﬁfhwmsportatlonr’ oo
q/(ﬁxf—% /d&mQUJ b@oﬂmﬂ 1A U‘W\M“‘_ld/@w els
a-/%ou\ be Gk)‘)' "o c’.r\o\\m M@ S € m)’m,(v-, '

28. What are the four ways people powered machines in ancient tlmes?

t/ NG e (

mm s o\ po st
< '

ANSWER:

Wulate the gear ratio of a gear system with a 56 mm diameter gear and a 8 mm
diametergear. : ~

mmate the gear ratio of a gear system with a 72 teeth gear and a 9 teeth 'gear.

3
b

A



MULTIPLE CHOICE

; In the late 1800s, New Yorkers faced pollution caused by _ .k(\orﬁﬁf . Y /e
a. smog c. steam engines: , o

horses d. gas engines

During most of human htstory, people traveled by \J@s\ )ﬁlﬂq
a. wheel and axle - c. gasengines
-§ walking - d. sailboat .

3/ Afour-stroke cycle gas powered engine turns gas into energy inside the engine using which four
~ strokes? : o L . o I L
@_ mtake, compressron power, exhaust G '

k’w o
. mixture explosnon ‘compression, densuty
. ¢ intake, explosion, power, compression
d. mixture, compression, power, density

4. Agear system is best described as

@ A system of two or more gears that work together, similar to a simple machine because it is a
. wheel and axle. o

b. A system of separate, unrelated, wheel and axle gears that reduce the mechanical advantage.

¢. A system of a variety of different types of simpie machines that work together for one -
purpose. :
d. Asystemn of larger gears that turn a small gear in the opposite direction.

5,/ A lubricant
| a. increases friction by adhering or gluing the surface of a flat object to the ground.
" b. increases friction by making the surface rougher.
¢. reduces friction by preventing the surface of a flat object from touching the ground.
A reduces friction by making the surface smoother.

Do all objects have friction?
@ Yes, but some surfaces of objects have more friction than other surfaces.
b. Yes, all surfaces have the same level of friction.
/e. No, only rough surfaces have friction while smooth surfaces do not.
d. No, all objects do not have friction because friction is eliminated by a lubricant.

ra
iAction helps a person to

a. walkand run.
b. slow down a moving object and prevent objects from sliding away from each other.
¢. sitand stand.

@ all of the above

T s



8'.\45mg' rollers to move large, heavy objects reduces - B 9
' a. the mechahical advantage of the object B ' '
b. the amount.of iubncant you will need to move it. .
7 @ the amount of the object’s surface area that is rmpacted by fnctlon
- d

and Smckers bars R R

" @ made from oil
_ G moving o tides
_tidal power SRR : @ replaced muscfe ‘wind, and water powerm :

(_ hydroelectric power
& solar power sy

/ o L the17005
3/’ \’\ wind power = @ powered by heavy oil

1 o .
13/, liquid hydrogen T E @ replaced steam in the 1040s. L
14, _j'g_ power statlon L @ eventually evolved into the wheel and axje
1 SR T dresei engme . _ @ uses different energy sources o generate
S . electricity
LS/_Q_L oil '7 o ' @ generated by wind ..
17/ _ /{4 steam ' . [ fuels rockets and spacecraft .

18\./1 £ roliers S | o @rfallingwater
19./ _{},_gasoline - - ® sun energy

USE THE WORD BANK for 19 and 20

@ﬁé’ceam engine warks by heating Coﬁb\ or WQO& to cause water to })d{\ for steam. The

steam passes through ﬂ% E& andturnsa v Ot\ub whichturnsa  ( g& which turns
the _ \dbedd :

e ~chun

21. The gear system of a bicycle uses two gears connected to a . The pedaling turns a large

Q%{ , the \W’tw gear turns a chain which turns a §m“ l[ _gear, and the smail gear
turn\s)the AN l\\WJ\

the gra\ntatronal pufl of the earth alfowmg Mrs Colhns to cut back on her lntake of caffeme - S




FILL IN THE BLANK

What are three inventions the steam- powered engme led {0?

Seacn ek b Seamicar o _Sleam ban
26. ¥What are three inventions the gas~powered engine led to? , '
o BAY b O 9)4(1@ e

e “"27 What werethe: SIﬁmporta’nT advances B ’the hlstorv of transportai‘“ ion?
. Gif) o O coneg b, &m’lé&% 1l S \Nheez
o Doo¥ e Gham ey gt Sleam brag
hat are the four ways people powered machines in ancient times?

a. _MNan *uLG;e,B\ (V\LLS[J*& b AN (‘mﬁ\ ~Uged MH&L[&

C., \JJCL\’?,( d. : \lJ:ﬂd

ANSWER:

diameter gear.-' : 7 a

/ | - Gew Ragly-_ 86

7/
I

S A %

- 29. Calculate the gear ratio. of a gear system with a 56 mm diameter gear and a 8 mm QE
L g S

30. Calculate the gear ratio of a gear system with a 72 teeth gear and a 9 teeth gear. % ' )
g Fff

*‘hn.,.,.,..a-——-\

0\

Gmr Rq

i TR, T P e e Sy



MULTIPLE CHOICE

?f/lﬂ/ ihe late 1800s, New Yorkers faced pollution caused by

SMOg c. steam engines
@ horses d. gas engines
QAunng most of human hlstory, people traveled by _ . -
" a wheelandaxle . ¢ gas engines

walking- .~ - d. sailboat

A four-stroke cycle gas powered engine turns gas into energy insidé the engine using which four '
strokes% . : '
g \1'ntake compressuon power exhaust

B R HERT R T it R i R A

"‘b, mlxture explosmn compressmn, densuty
¢. intake, explosion, | power, compress;on '
d. mixture, compression',lpower, density

A R R

ﬁ/A{ system is best’ descnbecl as
@ A system of two or more géars that work together, similar to a simple machine because itisa
wheel and axle.
h. A system of separate, unrelated, wheel and axle gears that reduce the mechanical advantage.
¢. Asystem of a variety of different types of simple machines that work together for one
'purpose. | ‘
d. ~ A system of larger gears that turn a small gear in the opposite direction.

' {/A/lubncant

- a.’ increases friction by adhering or glumg the surface of a flat object to the ground.
b. increases friction by making the surface rougher.
o reduces friction by preventing the surface of a flat object from touching the ground
d. / reduces frlctlon by making the surface smoother. '

W,,alj_objects have friction?
Yes, but some surfaces of objects have more friction than other surfaces.
b. Yes, all surfaces have the same leve! of friction.
c. No, only rough surfaces have friction while smooth surfaces do not.
d. No, all objects do not have friction because friction is eliminated by a lubricant.

zAriction helps a person to
a. walkand run.

b. slow down a moving object and prevent objects from sliding away from each other.
c. sitand stand. :

Y

,:\(\i’ }ail of the above



10

a/ﬁ]g rollers to move farge heavy objects reduces _ 3
a. the mechanical advantage of the object. '_ _ :
the amount of !ubrlcant you will need to move |t .
he amount of the object s surface area that i is _lmpacted by frlCtIOﬂ

the gravitational pull of the earth alfowmg Mr % m 10 cut back on her lntake of caffeme
'— and Snlckers bars : . SR -

MATCHING

9// } hydroelectr:c power

; "‘wsoiarfpowc- b e s - i , S A A i
lf;L/ EE tldalpower SRR _-'c rep!aced muscler, wind, and water power in
. the1700s.. Vo

12, /’\ wind poWer L - d. powered by heavyo;l

13/'_; liquid hydrogen: . * : e. replaced steam in the 1940s - - :
: power station =~ . - f. .eventually evolved i'nto,the wheel and axle
~ 1@/ __2; diesel engine - ) . o g. uses different energy sources to generate
S -efectricity . :

ie/_Qg - . generated by wind

177 __[:zsteam : - | * i fuels rockets and spacecraft

18/_£ rollers L -} falling water .

13. __ () gasoline : k. sun energy

USE THE WORD BANK for 19 and 20
- & pipes.- chain valve - coal wood = geai' boil
wheel wheels rod small large

ZGA/steam engine works by heating { ;QQ / r_int Qn;! to cause water to bﬁ}! f for steam. The

[

steam passes through P&%} & and turnsa __ /7 fw’ which turns a {"=cF  which turns

the 4 T

e

Zngar System of a blcycle uses two gears connected toa (" Yy, {*. The pedaling turns a large

Qoo Jthe _Toge ¢ £ gearturns a chain which turnsa <oy 3
P

ead
turnsthe § . }H&« A

i gear, and the small gear




FILL IN THE-BLANK _ .
2 ter pole where the sail is attached is the Y\ & S l .

th e part of the boat used for steering is the v € gfkﬂ E«jjﬁ L

: 4 A whéel that has notches along its CIrcumference isa et
hat are three inventions the steam-powered engme led to?
g’}eﬂmbrﬁx b et e Sle B 7S

\Zs//at are three inventions the gas-powered engine led to? _
P@\f - _ Q‘/\\ .- i uC-' ‘e{riqf\‘g .

‘-:M-'av-&.

i ’QT“Wh‘éWéfe"ﬂTé s‘iﬁ‘*rmﬁ‘brl’a'ﬁt aﬂvance?‘f”“‘fhe story of transportation -3/

¥
a. dc;,ﬁ ml—-;“ﬂﬂ"e/ (&b, f’}gmmfi“ﬂ’hﬁ\au{\ﬂ\\ w‘i'wa,l
T"‘@ANI ¥ e

gagolinp? ¢Sl posts”
2%/5& are the four ways people powered machines in ancient times?
a. m‘f«)’\ {4 vtﬁ;w \rff; b. Gifine E”‘H“\-é M‘b‘tf{
c. 'nd/{ d. _fa foit=e \

ANSWER
lﬁalculate the gear ratio of a gear system with a 56.mm diameter gear and a 8 mm
diameter gear. | & : :

J(ﬁalcuiate the gear ratio of a gear system with a 72 teeth gear and a 9 teeth gear. Qg : f



MULTIPLE CHOICE

; . '_ In the late 1800s, New Yorkers faced poliution caused by
. ) smog c. steam engin\esﬁ
\horses d. gas engines

.~ During most of human history, people traveled by '
" a. wheelandaxle - c. gasengines

~ (b,) walking - d. sailboat

four—stroke cycle gas powered englne turns gas into energy |n5|de the engme using which four
strokes?-

mtake compress;on power exhaust

R O

iR e AR e AR e e

b.
"¢ intake, explosron, power, compressmn. '
d. mixture, compression, power, density

. :'%ear system is s best described as .
, . A system of two or more gears.that work together, similar to a simple. machine because it isa-
wheel and axle. _
b. A system of separate;-unrelated-,- wheel -and-axle gears that reduce the mechanical advantage.
c. A system of a variety of different types of simple machines that work together for one

purpose.
. Asystem of Iarger gears that turn a small gear in the opposite dlrection

A lubricant .
a. increases friction by adhering or gluing the surface of a flat object to the ground.
b. increases friction by making the surface rougher.
c. reduces friction by preventing the surface of a flat object from touching the ground.
@ed'uces friction by making the surface smoother. ' -

6. Do all objects have friction?
(v Yes, but some surfaces of objects have more friction than other surfaces.
x Yes, all surfaces have the same level of friction.
No, only rough surfaces have friction while smooth surfaces do not.
No, all objects do not have friction because friction is eliminated by a lubricant.

riction helps a person to
a. . walk and run.
b. slow down a moving object and prevent objects from sliding away from each other.
c. sit and stand.

@ all of the above


BWG
Typewriter
x

BWG
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x


sing rollers to move large heavy objects reduces
&, _the mechanical advantage of the ob;ect '
: jb. the amount of Iubricant you will need to move it. o SR
the amount of the object’ 3 surface area that is lmpacted by frnct:on
d the grawtatlonal pull of the earth allowmg Mrs Colhns to cut back
b and Smckers bars : T ‘

on her’ mtake of caffeme

¥ replaced muscle \
' “the 1700s.. ..
powered by heavy 01| o

_e. replaced steam i in the 194'05 :

: eventually evolved mto the wheel and axle
. uses d:fferent energy sources to generate

USE THE WORD BANK for 19 and 20

md and water power ih

. generated by wind

i. fuels rockets and spacecraft
. falling water -

sun energy

pipes o chain valve coal - wood gear boil
wheel wheels rod ' small Iarge _
20. A steamn engine works by heatmg .0 f or W"Oé to cause water to | ——for.steam. The
steam-passes through {2~ PCS  and tums ac™ "F—\[{’_:_ ~>which turns a9 wﬁ’ich turns
the _wwheed . =

21. The gearsystemofa brcycl,euses two gears connected to a (_'}’\*’i‘ h The pedahng turns a Jarge
Sl the @Wai,g)ear turns a chain which turns(ﬁ?ﬁ"}gear and the small gear
turnsthe _ vv =

———,
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FILL IN THE BLANK

| st
22. Acenter pole where the sail is attached is the md-L .
- 23. The part of the boat used for steering is the {ok/ i L&d
QA A wheel that has notches aiong |ts circumference is a 0 AW M’Q( C}"-—M
B e

252 Whatare three inventions the steam- powered engme led to?

AP - G 1 L e (i
26. What are three Ihventior;;/the gas—ppwered engir;e led to? | / ﬁ\Q)
s ~Cow~ b _boat g -?rckmg 1O -
PP What ethé"'s’i'ﬁ"‘?‘r‘r‘i""’:6'F't’é'ﬁ:f*ad\75“n A RS RIS trans ortation'?
a_‘/y;ad(if of (,mfnoc b, wheed ond A;yif, o p‘ @d\ 14 SCL 749%
dvanienols e Rloong g g “J Mo
28. What are the four ways people powered machines in ancient times? | 5'}&‘6&’?““ . {
a. M oy - hansides b \Nl’\cx’l'fl/
. Girimawmpsaes g ) W\“’"éy

ANSWER:

29. Calculate the gear ratio of a gear.system with a 56 mm diameter gear and a 8 mm

30. Calculate the gear ratio of a gear system with a 72 teeth gear and a 9 teeth gear.
72
;/7 ? ' q
-

4
¢\



MULTIPLE CHOICE

In the late 1800s, New Yorkers faced pollution caused by /b r5e5 . . ,
a. smog c. steam engines [/{ >

horses d. gas engines

During most of human hlstory, peOp[e traveled by A A/Gd ’\iﬂa
a. wheelandaxle - C. gas engines.
b. walking ‘ d. sallboat

o Astroke cycle gas powered engme turns gas into energy inside the engine using whlch four
‘strokes? : :

_ @ mtake, com'preSsion, ,power,-exhaust
b. mixture, explosion, compressioh, density
c. intake, explosion, power, compression
d. mixture, compression, power, density

Aear system is best described as

@ A system of two or more geéars that work together, similar to a simple machine because itis a
wheel and axle.
b. Asystem of separate, unrelated, wheel and axle gears that reduce the mechanical advantage.
c. - A system of a variety of different types of simple machines that work together for one’
purpose. -
d. Asystem of larger gears that turn a small gear in the opposite direction,

ﬁ/@cant

a. increases friction by adhering or gluing the surface of a flat object to the ground.
b. increases friction by making the surface rougher.

C. reduces friction by preventing the surface of a flat object from.touching the ground

ayduces friction by making the surface smoother.
Do all objects have friction?

Yes, but some surfaces of objects have more friction than other surfaces.
b. Yes, all surfaces have the same level of friction.
c. No, only rough surfaces have friction while smooth surfaces do not.
d. No, all objects do not have friction because friction is eliminated by a lubricant.

Aon helps a person to

a. walkand run.

b. slow down a moving object and prevent objects from sliding away from each other.
¢. sitand stand.

all of the above
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8. Usmg rollers to. move large heavy ObjECtS reduces
_ the mechamcai advantage of the object.

b. “the- amount of [ubrlcant you wilt need to move It . ' '
'~ "c__the amount of the & JEct _suﬁaeeam?mm_b‘m_j R _
- Ei..: the grawtatlonal puil ofthe earth':allowmg"Mrs Co!llns to cut back on her mtake of caffeme L
. and Smckers bars e e T e ‘ :
. - ﬂq hydroelectric power ' \a\ made from 0|l
g K solarpower oo \h.\ movmg oftides
1 E tidal power .. .C .. \ replaced muscle, wmd and water powerm ;
. R R L ... the 17005 : ‘
'1-2/ h wmd power L o . \i‘ powered by heavyoul
15/__L__ liquid hydrogen S T : e‘ replaced steam-in the 19405
powerstation - . \eventually evolved into the wheel and axle
15/ _‘g}(x dieéelen;g'i'hé""" IR B uses different energy sources 1o generate
o : - electricity :
1V€/ oit o \h\generated by wind -
( ,_steam : . fuels rockets and spacecraft
{C rollers = _ K ‘j\falhng water
_&gasolme SR ' _ “k,_sun energy
USE THE WORD BANK for 19 and 20 - . .
~pipes— —chair~—  __valve - _egat —woed— ~gear= - “bei-

\
K{steamengine works by heating { Q(A | or W@OA' to cause waterto ) | l for steam. The

steam passes th[o_ugh 9 1—‘p€/6 and turns a /€, which turnsa Oé\_ which turns
the W!’\ £E f) ,

. 1
. The gear system of T bicycle uses two gears connected to a l’] N The pedaling turns a large
A8y the VL. _gear turns a chain which turns a ear, and the small gear
g Smalle g

tu‘r/nsthe k/]ﬂ@’ty o
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FILL IN THE BLANK éﬂﬂ : :
: “ /.\ a’ -
( 22] A center pole where the sail is attached is the .
@ The part of the boat used for steering is the W}\ {}—.a )({19/
wheel that has notches along | its cwcumference isa ﬁ & 2|4 y _
What are three mventlons the steam-powered engine Ted to? - ' Wbﬂvb
o : LAY
c.
_ting v _Orh - “ail)
@ What are three !Whe gas- owered engine Ied to? L,/ _
. gt ghips mé\éuws B« Ve
What were the six important advances in the hlstory of tr ﬁv‘-sportat:on? _

+mm6 o _PACE kT (G~ = b ordaga conee
o _ohips dbosds < planes  ~devuticets

@ What are the four ways people powered machines in.ancient tlmes'J : Qmamal
grai o _dpimals < g “Sitamegine
AN e _nusele s S —whee!

-Jqf t’ﬂj VQ

ANSWER:

Malculate the gear ratio of a gear system with a 56 mm diameter gearand a 8 mm
diameter-gear. . '

3ﬁéulate the gear ratio of a gear system with a 72 teeth gear and a 9 teeth gear. [ﬁ / ‘
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MULTIPLE CHOICE

in the late 1800s, New Yorkers faced pollution caused by _* o

a. smog c. steam engines

b. horses : _ d. gasengines
uring most of human hlstory, peoplé traveled by b
" a ‘wheelandaxle  _ c. gas engines '

b_. _ walkmg__ d. sailboat

-}/A’ﬁur -stroke cyc!e gas powered engine turns gas mto energy |n5|de the engme using which four
' strokes‘-’ i :

@ mtake compressmn power exhaust

ww**&%“' STy

?::‘W
. mlxture expiosmn compresswn ﬁenSIty
“¢. intake, explosion, power, compression
d. mixture, compression, power, density

W&r system is best described as

(@ A system of two or more gears that work together similarto a 5|mple machlne becauseitisa
wheel and axle.

b. Asystem of separate, unrelated, wheel and axle gears that reduce the mechanical advantage.

c. A system of a variety of different types of simple machines that work together for one
purpose. :

d. A system of larger gears that turn a small gear in the opposite direction.

a. increases frlctlon by adhenng or gluing the surface of a flat object to the ground
X b. increases friction by making the surface rougher.

@ reduces friction by preventing the surface of a flat object from touching the ground.

_ C@ﬁ? frlcti'owbv-mkm"fﬁe stirface smootﬁ"\

6/6 all objects have friction?
@ Yes, but some surfaces of objects have more friction than other surfaces
b. Yes, all surfaces have the same level of friction.
c. No, only rough surfaces have friction while smooth surfaces do not.
d. No, all objects do not have friction because friction is eliminated by a lubricant.

')L/I{ction helps a person to

a. walkand run.
b. slow downa moving object and prevent objects from sliding away from each other.
¢. sit and stand.
@ all of the above

%and e e e
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s:ng rol!ers to move Iarge heavy ObjECtS reduces s
S O he mechamcal advantage of the object

' ravrtatlonal puli of the earth allowmg Mrs Colllns to cut back on her mtake of caffeme
' ckersbars ' o - R

" '# made fromoil "
-'f:tmovmg of tldes" :
/ft replaced muscie wmd and water power in

Q -trdai power :

ng/ b wmd power S __ x( powered by heavy oil o
13-4 Ilqmd hydrogen S © ¥ replaced steam in'the 1940s -
- power station S g4 eventuaily evolved into the wheeland axle
’ 15/ - dleselengme _ g/ uses different energy sources to generate
' . electricity
1@// oll ‘_ ’, B . generated by wind
W _C steam_ R " o 4 fuels rockets and spacécraft
187 £ rolters L , 47 falling water
< (A__ gasoline ' *—sun energy
USE THE WORD BANK for 19 and 20
whee| whesls ~rod small lazge

-

'2/0/"A/steam engine works by heating_ {006\ _or Wepd to cause water tp bOs ' for steam. The

steam passes through _ DA€, andturnsa _ygaliye whichturnsa _ (el which turns
the m\’\gg\ ,

Aear system of a blcycle uses two gears connected to a ¢i}<koi\ . The 'pe'da!ing turns a large
new , the lam{', gear turns a chain which turns a Svy Qx\ gear, and the small gear
turne the b\)\n,?&\ S
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FILL IN THE BLANK

22. @r pole where the sail is attached is the _ sk

235/{ e part of the boat used for steering is the _ { L\(\A R~

_204:‘ wheel that has notches along its mrcum_ference isa % .
Zs{ha; are three inventions the s'team—pbWefed engine led to?

a. Sleom (aus b. __=\eam S%é@f c. S¥tam D\(mm

' @What are three inventions the gas—powered englne ted t0?

%&% Cowr b.-' E}ﬂ\ S% ;D(

lan +
o Q P Whatweresthesix- tm'pertaht“afdvaﬁces m"the*'h“fﬁ’tory oftrar n5pb rtation?”

@/ﬁg&ue/edm%goﬁ" UUTIZI<0.L/Q bmﬁ' wa{-tf Q‘MW e

Sxeaam OnGioe q/ﬁw.ﬁ , Mﬁ %ff\mf?é'

" 28. What’are the four ways people powered machines in ancient times'v’ ‘

& _uwind B monused vwuscel
d oM _ daoraial uced muse s
ANSWER:
Calculate the gear ratio of a gear system with a 56 mm diameter gear and a 8 mm
i diameter gear. __fram 7 [ 1
- ' 3. é ©
~
/ \ N
‘f--/ )

/

\@ﬂculate the gear ratio of a gear system with a 72 teeth gear and a 9 teeth gear. @H’) \ﬂa/
. % % ¢ (
G2
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MULTIPLE CHOICE

14

1. In the Jéte 1800s, New Yorkers faced pollution caused by

B smog . €. steam engines
_orses d. gas engines

1}/Dunng ost of human- hlstory, peopie traveled by I
ST ‘wheel and axle " ¢. gas englnes R

walking . . 7 d. .,s_altboat

mtake compressu)n power exhaust
b, mixture, explosion, compressmn densnty
c. ‘intake, explosnon power, compressnon
mlxtur’e‘{,,compressmn, power, density

iem is best described as '

A system of two or more gears that work together similar to a 5|mple machine becauseitisa
wheel and axle.

A system of separate, unrelated, wheel and axle gears that reduce the mechanical advantage.

A system of a variety of different types of simple machines that work together for one -
purpose. '

d. Asystem of larger gears that turn a small gear in the opposite direction.

nt . . o
¥. increases friction by adhering or gluing the surface of a flat object to the ground.
x b. increases friction by making the surface rougher.

¢. reduces friction by preventing the surface of a flat object from touching the ground
Treduces friction by making the surface smoother.

6, Do ay(ts have friction? .
‘ 7" Yes, but some surfaces of objects have more friction than other surfaces.
b. Yes, all surfaces have the same level of friction.
c. No, only rough surfaces have friction while smooth surfaces do not.
© No,all objects do not have friction because friction is eliminated by a lubricant.

Friction helps a person to
a. walk and run.

all of the above

. b et it rEngasiein e e T S TR e iis ':{J;,vs.o,:.'.b‘:ufh-,‘(‘.f'.l*,éz?‘-",;‘-'-‘;=,-).'\—f‘é'!_'-'_-N-‘,f»':: R R
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5 to move large, heavy objects redu'ces h
. < the mechanical advantage of the object -
X b the amount of lubncant you will need to move |t
A the amount of the object’s surface area that is lmpacted by frlctlon . .
the grav:tatlonal pu!l of 'he earth alfowmg Mrs. Coi!ms to cut back on her_mtake of caffeme

e @ made from orl

- ,{\*p‘ﬂ'ﬂ"‘ _a._& ,_‘ 3

-5 replaced muscle wmd and water power in

- tldal poWer ’

. R PR L o ..thel700s. . . ...
E,?_A_ Wmd POWG" AT o & powered by heavy ol
: ] Ilqmd hydrogen ST R ¥ ,rep!aced_ steam ih the 1940s :
/L powerstatlon e - B eventually evolved into the wheel and axle
dlesel engme R 4 & uses different energy sources to generate
R S electricity
B ol *” - L .. &. generated by wind
stean't_" A . @ fuels rockets and spacecraft
rollers 8 falling water
gasoline - _ 4. sun energy
USE THE WORD BANK for 19.and 20 -
wheeles. o Wheeis——v« Lo small, large-me..

Zﬂzmxmengine works by heating WQ"J or C'QQI to cause water to Eﬁﬁ?»j/ for steam. The

steam passzz\s thr7ugh ‘ F;Qeﬁ and turns a V'@/Ve which turns which turns
the .

2/The gear svstem of abi 7ycle uses two gears connected to a C_!\d,! N The pedaling turns a large
Q@A the, N;ﬁ gear turns a chain which turnsa . $/# ¢ gear, and the small gear

turn\slthe 3 ﬁe’/ $
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FILL IN THE BLANK

22A center pole where the sail is attached is the mnas

@ The part of the boat used for steering is the ﬂ,l (’\A Q[/
2%\@] that has notches along its circumference is a 964"‘ i

What are three inventions the steam-powered engine led to?

" / ___cars b _ ﬁfmf e _Tran
hat are three mventlons the gas-powered engme led to?

Aeps b. Core £ @éﬂg

sty 37 What were the smmpertaanvancesw‘che*hlstory of transf orta‘t:

E/WQ'H' or du aaK emestiated Gv"’“"ms_ L?Cf/ aﬂé ﬁ)(&/

L
MM%?L&& eh/aﬁs e{lj‘hmf f/’,gg?.lt é&aﬁ

What are the four ways people powered machines in ancTnt fimes?
a. __huscdé b. . arimels

S e water o wind

B L

"ANSWER:

Caiculate the gear ratio of a gear system with a 56 mm dlameter gear and a 8 mm
dlameter gear. .

i Y
@Calculate the gear ratio of a gear system with a 72 teeth gear and a 9 teeth gear. __{ S ¢ [



MULTIPLE CHOICE

1_-1n the late 1800s, New Yorkers faced pollution caused by B

a. . smog c. steam engines . 3
b. horses d. gasengines
Ang most of human history, people traveled by P)
© 7 "a. wheelandaxle = c. gas engines
~ b. walking - d. sailboat.

.Mr-strbke cycle gas powered engine turns gas into energy inside the engin:e‘using which four:
strokes? '

i take compressron,

) mlxture explosron compre55|on ensrty
c. intake, explosion, power, compression
d. mixture, compression, power, density

ﬁ/@r system is best described as i

A system of two or more géars that work together 5|m|iar 1o a simple machine because r@
wheel and axle

b. A system of separate, unrelated, wheel and-axle gears that reduce the mechanical advantage.
c. Asystem of a variety of different types of simple machines that work together for one

purpose.
d. Asystem of larger gears that turn a small gear in the opposite direction.
5—A| lubricant

a. Increases friction by adhering or glumg the surface of a flat object to the ground.

b. increases friction by making the surface rougher

c. reduces friction by preventing the surface of a flat object from touching the ground.
d. (ﬂﬁjces friction by making the surface Smo_otheD

m objects have friction?

a. (Yes, but some surfaces of ObjECtS have more fnctlon than other sur?;zg;‘

b.  Yes, all surfaces have the same level of friction.

¢. No,only rdugh surfaces have friction while smooth surfaces do not.

d. No, all objects do not have friction because friction is eliminated by a lubricant.

An helps a person to

a. walk and run.

b. _slow down a moving object and prevent objects from sliding away from each other.
c. sitandstand. R

““3ll of the above’
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. thea amount of__lubncant you will need to move it.

A the amount of the object s surface area that is smpactedm- . : G
. th“grawtatlonal pulrt the earth allowmg Mrs Co IS :'7 ack on her mtake of caffeme
and Snickers bars ' RTINE G R R T - o i

'Usmg rolfers t0 move.la ob ects reduces
o - .. :'the mechanlcal advantage of the object,) *

' MATcHiNGf.-{

made from oni

the 17005

M b wmd power 'd. powered by heavy oil -

- _t. liquid hydrogen - &. replaced steam in the 19405 ‘
14 power statlop _ f. eventua"y evolved mto the wheeland axle
167 a%: 'ereei engine T 8. uses different energy sources to generate

T electricity :
1% _e;__ oi _ , h. generated by wind
1&'?/ C steam . I. fuels rockets and spacecraft
18_71 £ rollers . _ J- falling water
L9 . pgasoline - k. sun energy

USE THE WORD BANK for 19 and 20 . o B
pipe;/ - nya'ﬂ/ o y‘ve 904 yéd' §e/a'r" ' };oi:
whéel | ye/eis. | 194 s}aéu' la/rge

%’ceam engine works by heating coal  or Wo 00d 1o cause water to _Yoaid for steam. The
steamn passes through P ‘} and turns a '_\Jigh[ﬁ whichturnsa g cl - which turns

the \uheel

Z{_.Khe gear system of a bicycle uses two gears connected to a (g The pedaling turns a l'arge ‘
A€o L the jJarae gear turns a chain which turns a 5QQQLL gear, and the small gear o

- Wt
tn}f'ns the 4 ih EJE; .
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FILL IN THE BLANK

'@A center poie where the sail is attached is the l ) 111_57/’ ..
(23 ) The part of the boat used for steering is the _{_ (4 é é gAN.

{24) A wheel that has notches along its Cirtumfer_enc_e is a {
~What are three inventions the steam powered engme led 107

a. @reamsmp b S c s+ew’\~¢w“

.

mt are three mventlons the gas—powered engme Ied to?

Cou b._plone., - c_Ship
A7 'What waré'the §i% lmportant advances in Ve h‘|stogy of transportatn:ﬁi’i o
- C‘\ﬂ' ,

6. sail poat e aa8 €9l sﬂ@m £0010¢

W& the four ways people powered machines in ancient times?
A b. \u\“d RPN

c. armgls vSed mucded. _\oa¥er

ANSWER:

Z?.Cﬁu!ate the gear ratio of a gear system with a 56 mm diameter gear anda 8 mm_
diameter gear. ®

3%@&- the gear ratio ofa_ gear system with a 72 teeth gear and a 9 teeth Igear.' % . \

15



MULTIPLE CHOICE o
In the late 18005 New Yorkers faced pollutlon caused by
smog , ~ ¢. steam engines
' b. hdrses. ~ d. gas engines y
27" During most of human history, peopté trav_ele__d by - /ﬂ ) J/
a. wheel andaxle c. gasengines . Y/
b. walking ~  d. sailboat

PR

%—st’roke cycie gas powered engine turns gas into energy inside the engine us.ihg which four -

stro
i"—) intake, compression, power, exhaust
b.. mixture, explosion, compression, density
‘¢ intake, explosion, power, Corﬁ'pr'éss'ion .
d. mixture, compression, power, density

i:./ system i$ best described as

gear
6 A system of two or more gears that work together, similar to a simple machme because iti isa
whee! and axle. - -
- b. Asystem of separate, unrelated, wheel and axle gears that reduce the mechanical advantage.
c. Asystem of a variety of different types of simple machines that work together for one
purpose. ' :
d. Asystemof larger gears that turn a small gear in the opposite direction.

Mbricant

. a :ncreases friction by adhering or gluing the surface of a flat object to the ground.
'b. increases friction by making the surface rougher.
c. reduces friction by preventing the surface of a flat object from touching the ground.
@ reduCes friction by making the surface smoother.

@ Do all objects have friction?

CT Yes, but s some surfaces of objects have more frm
x Yes, all surfaces have the same level of friction.
<) No, only rough surfaces have friction while smooth surfaces do not.
- No, alf objects do.not have friction because friction is eliminated by a lubricant.

Friction helps a person to
a. walkand run.
b. slow down a moving object and prevent objects from sliding away from each other.
¢. sitand stand.

@ all of the above
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Usr g rollers to move large heavy ObjECtS reduces -
the mechanlcal advantage of the object '
_the amount of lubricant you W|I| need to move lt :
the amount ofthe object S sur ace area that | is lmpacted by FrT—hct:?frT\

d the gravntat:ona pul! of the earth allowmg Mrs Colhns to cut Badi“on her rntake of caffeme
o ~and. Snlckers bars e T T

MATCHING |

. made fromo
b movinigof tide

€. replaced musc!e wmd and water power in
| o . the1700s . e i
- 1ps ' ,;wind pbwer”“ B S ‘powered by heavyorl g
18 _4 liquid hydrogen R e, repiaced steam in the 19405
11{ .4 power station . '_ . o _f. eventually evolved into the wheeiand axle
' _”_{;’,djéseiengine"' : I 8- uses different energy sources to generate
o o electricity
16 Lol "~ h. generated. by wind
127 team - - i. fuels rockets and spacecraft
8 Y- _rolles j- falling water
1@/_@gasollne D k. sun energy
USE THE WORD BANK for 19 and 20
pipes - chain “ valve coal " wood gear boii
atheel wheels. red | sral) large

e

2 steam engine works by ea ﬁg ,@f%é m(o cause water to &:”% for steam. The

steam passes through Jand turns a —] ﬂmmch turns a 4 which turns
the \/L r;k?ﬁ;w

AA ar system of a bicycle uses two gears connacted to g F‘/ ,{ﬂ-r e pedaling turns a large |
%/{i— , the _:-;.e _Bear turns a chain which turns a x’zﬁ?’ gear, and the small gear A

tufns the A W/
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. EILL IN THE BLANK

gl/A center pole where the sail is attached is the 1222@%
287 The part of the boat used for steering is the WLZMQ/Z ' T

24/wheel that has notches along its cnrcumference is a

28" Whatgre three inventions the steam!p /gﬂ engme !ed to'-’
SR . % |

W are three mventlons the gas powered englne led to? : :
o _dllo_ v ___jlans2 ffw

' Mﬁ/t wgre e six i p?rtant advances (n the h'story of transportatlon? ﬁ '

What are the four ways peopie power machines’in ancient tlmes?

A AL ] asimiaks Lpnicop Ve
,7/m/ i gl iz |

ANSWER:

Za/alculate the gear ratio of a gear ystem with.a 56 mm diameter gear and a8 mm
diameter gear.

%alcuiate the gear ratio ofa_ gear system with a 72 teeth gear and a 9 teeth gear. 15 ' {





